Ahj(é Loe:@wc-(,v\ \/e.c,"?fs

=
a
)
s
I"\. ewo J ; e w$tons
Ala, a)
2 T e
Tt
G- \
S € b b
6 (0 0) 3 > €(bp.)
CDS (€. Q.ule.
~
coc@ = (Al 4 (5" —[b-af®
2 lajt]
+ - R 2
Cos (@ - a, 4 c,:-fl- L-;:L—f—Q,_ -((‘a\-q.) *(’az-q.,_))
2 1la( (5]
2 3 L °éL < 2 T T
Cos® - &, +4, * ,O( 'f"L)-z _<l~’l + 4, -"2.‘-\5\ 'l'g'z i, —2“")"
2 e ||}
&0}6‘ =~ 24},’:¢ '(’24.1_4)')_ - Q(A(-(—"\-,_!DL
2laflb
| Ja [ A\

\Die@m,&c&v\ TLQ Sfftlﬁ.J' (h-po(oc_)( oz@' é‘\dd\lzg;ﬂ'*’s



As he

TL¢ .(CQ("»J Fro/fuc_'(’ (DJ‘ Jo%ﬁmlﬁa{') 0’4

& aak h = la(Vh]os

VL"L 6 ‘¢ C'-"ﬂs‘&- L.):.'Q‘-’tf—*ﬂ. "E'kcm_

T he vectur F/od.uc,{’ (“ Lross fm”h"-{‘) ot

—_—

é A { & (‘( a ve s Hluem 47

\.J)\.t.ré— " ;( P unit Véc‘l‘a\’ Perfc..ﬁtsc:u‘a/

€0 botS =N Qc—z/( é
VEest (reooetT oot o SrccaBos




€t eenle - (’-
~0 >7 &= ,__f_

cos (O = gﬁj—-?a — o<

jz"’,\—ﬁc«{“ / 4 S0t J3¢ {53

LY ata - 123.4°
[9 - J’K_Sﬁ'g - sﬁ




7 The diagram shows an extension to a house. Its base and walls are rectangular
and the end of its roof, EPF, is sloping, as illustrated.
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(i) Write down the co-ordinates of A and E. A<4 )O ) 0 ) ~ ( 4,0,3 )

(i) Find, using vector methods, the angles FPQ and EPE.

The owner decorates the room with two streamers which are pulled taut. One
goes from O to G, the other from A to H. She says that they touch each other
and that they are perpendicular to each other.

(i) Is she right?
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